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Abstract: Why does hydrogen atom produce ionization energy? Here we can find an answer that looks 

very simple or very pleasing.  
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Why does hydrogen atom produce ion izat ion  energy? Because the space-t ime 

st ructure of  our  universe i s  l ike  th is.  (h)(R∞)(c)(e�) = 13.6 = (μ�)(R∞) = (2π)(i)(φ�)(4π)(R∞)(φ�) = (2π)(i)(φ�)(4π)(R∞)2(φ�) ∗ (R∞) 
= (2π)(i)(φ�)(4π)(R∞)2(φ�) ∗ (2π)(a0)2(matom)  

= (2π)(i)(φ�)(4π)2(R∞)2(φ�) ∗ (4π)(2π)(a0)2(matom)  

= (2π)(i)(φ�)(4π)2(R∞)2(φ�) ∗ (4π)(2π)(i)(a0)2(i)(matom)  

= 1(ε�)(4π) 1(c)� ∗ (GN) 1(c)� (c)(matom) = (∇·�)(4π)(��) ∗ (∇·�)(4π)(�)(��)(��) . 
Due to  �φ�� = (eo), �φ�� = �matom�, �i� ∗ �φ�� = (c) ∗ �φ��,  

Therefore,  the reason why hydrogen atoms produce ion izat ion  energy 
is    1(εo)�4π� 1(c)2 ∗ �GN� 1(c)2 (eo)(c)�matom�. 
I t  i s  equ iva lent  to  �∇·���4π� ∗ �∇·���4π��i��φ���φ��. 
Reference: https://doi.org/10.5281/zenodo.7674542. 
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